## PROPOSAL RESULTS

# CC2021-11 CONCESSIONAIRE FOR THE MERCER OAKS BANQUET FACILITY LOCATED AT 725 VILLAGE ROAD WEST PRINCETON JUNCTION, NEW JERSEY FOR THE MERCER COUNTY PARK COMMISSION

	PROPOSAL OPENING:SEPTEMEBER 8,2021			
NO. OF RESPONDENTS:				
NAME OF RESPONDENT	MERCER OAKS + MARINA CATERING	under the moon foods, llc		
ADDRESS	149 SOUTH MAIN ST	210 FARNSWORTH AVENUE		
CITY, STATE, ZIP	ALLENTOWN, NJ 08501	BORDENTOWN, NJ 08505		
CONTACT	JAMES HINES	SANTIAGO OROSCO		
TELEPHONE	609-915-4808/609-275-9260 EXT 2	609-760-7260		
FAX	N/A	N/A		
E-MAIL	JHINES@MERCEROAKSCATERING.COM	UNDERTHEMOONCAFE@GMAIL.COM		
NJ SAVI DESIGNATION	N/A	N/A		
ADDENDUMS ONE& TWO	INCLUDED	INCLUDED		
NJ BUSINESS REGISTRATION	OK	OK		
INSURANCE INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED		
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED		
EIC	INCLUDED/ CERT #48158 EXPIRES 3.15.26	INCLUDED/APPLICATION INCLUDED		
EXHIBIT A	INCLUDED	REQUIRED IF AWARDED		
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED		
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED/MUST CHECK YES OR N		
EMERGENCY CONTINGENCY PLAN	YES	YES		
QUALIFICATION STATEMENT INCLUDING:				
BUSINESS PLAN	INCLUDED	INCLUDED		
FINANCIAL STATEMENTS	INCLUDED	INCLUDED		
PRIOR EXPERIENCE AND REFERENCES	INCLUDED	INCLUDED		
MENU	INCLUDED	INCLUDED		
EXCEPTIONS	NONE	NONE		
FATAL FLAW	NO	NO		
MINIMUM ANNUAL FEE:	PROPOSED MONTHLY RATE	PROPOSED MONTHLY RATE		
1/1/2022 TO 12/31/23 -MIN \$15,900.00	\$ 16,150.00	\$ 18,000.00		
1/1/2023 TO 12/31/24-MIN \$15,900.00	\$ 16,400.00	\$ 18,000.00		
1/1/2025 TO 12/31/26-MIN \$15,900.00	\$ 16,650.00	\$ 18,000.00		
OPTION PERIOD: 1/1/2027 TO 12/31/28 MIN\$16,377.00	\$ 17,150.00	\$ 19,000.00		
OPTION PERIOD:1/1/29 - 12/31/30 <b>MIN\$16,377.00</b>	\$ 17,950.00 \$			

# BID RESULTS

# CK09MERCER2021-15 ONE (1) 2022 OR NEWER KENWORTH MODEL T480V 6X4 STANDARD DAY CAB OR **EQUIVALENT WITH**

# RUNWAY DEICER BODY FOR USE BY TRENTON-MERCER AIRPORT DEPARTMENT

BID OPENING DATE : SEPTEMBER 8, 2021				
NO. OF BIDDERS:	2			
NAME OF BIDDER	BUCKS COUNTY INTERNATIONAL, INC	M-B COMPANIES,INC.		
ADDRESS	134 OLD OXFORD VALLEY RD	201 MB LANE		
CITY, STATE, ZIP	LANGHORNE, PA 19047	CHILTON, WI 53014		
CONTACT	KIM HIEBER HANSHAW	DOUG BLADA		
TELEPHONE	267 397 4000	920 898 1005		
FAX	215 493 1061	920 849 2629		
E-MAIL	KIM@BUCKSCOUNTYINTERNATIONAL.COM	DOUG.BLADA@AEBI-SCHMIDT.COM		
nj savi designation	N/A	N/A		
EXTEND TO COOP	YES	YES		
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED	SIGNED AND DATED		
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED		
NJ BUSINESS REGISTRATION CERTIFICATE	OK	ОК		
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED		
EIC	5996 EXPIRES 11.15.26	25605 EXPIRES 10.15.22		
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED		
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED		
HOLD PRICING BEYOND 60 DAYS	YES	YES		
CONTINUITY OF OPERATION	YES	YES		
UNIT COST FOR ONE (1) 2022 OR NEWER KENWORTH MODEL T480V 6X4 STANDARD DAY CAB OR EQUIVALENT WITH RUNWAY DEICER BODY FOR USE BY TRENTON-MERCER AIRPORT DEPARTMENT	\$ 255,492.08	\$ 299,635.00		
MANUFACTURER	INTERNATIONAL	KENWORTH		
MODEL	HV607	T480		
YEAR	2023	2023		
DELIVERY DATE	420-450 DAYS DEL. AFTER PO 360 ARO/SEE NOTES			
EXCEPTIONS	YES, AIRPORT STAFF TO REVIEW	TAFF TO REVIEW NONE		

#### BID RESULTS

## CK09MERCER2021- 16 INSTALLATION OF TRAFFIC SIGNAL UNDERGROUND AND ELECTRONICALLY OPERATED TRAFFIC CONTROL DEVICES AT VARIOUS LOCATIONS THROUGHOUT MERCER COUNTY

## BID OPENING DATE: SEPTEMBER 9,2021

OK \$ 970,500.00	OK \$ 999,920.00	OK \$ 1,656,820.00	
		OK	
SIGNED AND DATED			
SICNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
INCLUDED	REQUIRED IF AWARDED	INCLUDED	
REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
INCLUDED, ENGINEER DEPT. TO REVIEW	INCLUDED, ENGINEER DEPT. TO REVIEW INCLUDED, ENGINEER DEPT. TO REVIEW INCLUDE		
SIGNED AND DATED	SIGNED AND DATED SIGNED AND DATED SIGNE		
34EB00810200 EXPIRES 3.31.24	34EB00810200 EXPIRES 3.31.24 34EB01160200 EXPIRES 3.31.24 34EB009142		
648750 EXPIRES 12.29.22	648750 EXPIRES 12.29.22 604368 EXPIRED 4.28.22		
SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
ОК	OK	OK	
		WESTERN SURETY CO. 10% NTE 20K; DANIEL P. DUNIGAN AIF WITH POA	
YES	YES YES		
YES	YES	YES	
SMALL BUSINESS ENTERPRISE	SMALL BUSINESS ENTERPRISE	<u>N/A</u>	
FRED@OHELECTRICLLC.COM	EO@EDWARDCRAY.COM	BRIAN@CARRDUFF.COM	
732 -560- 8030	609-586-9522	215-675-9800	
732 -560 -8200	609-586-8844	215-672-4200	
FREDERICK J. KURFENS	ERIC OLISZEWSKI	ROBERT W, DUFF	
MANASQUAN, NJ 08736	TRENTON, NJ 08619	HUNTINGDON VALLEY, PA 19006	
1913 ATLANTIC AVE, SUITE 193	12 SEVENTH AVENUE	2100 BYBERRY RD	
ORCHARD HOLDINGS LLC	EDWARD H. CRAY INC.	CARR & DUFF INC.	
	1913 ATLANTIC AVE, SUITE 193  MANASQUAN, NJ 08736  FREDERICK J., KURFENS  732 -560 -8200  732 -560 -8200  FRED@OHELECTRICLIC.COM  SMALL BUSINESS ENTERPRISE  YES  YES  NGM INSURANCE COMPANY 10% NOT 20K; LISA NOSAL AIF WITH POA  OK  SIGNED AND DATED  648750 EXPIRES 12.29.22  34EB00810200 EXPIRES 3.31.24  SIGNED AND DATED  INCLUDED, ENGINEER DEPT. TO REVIEW  REQUIRED IF AWARDED  INCLUDED  SIGNED AND DATED  SIGNED AND DATED	ORCHARD HOLDINGS LLC  1913 ATLANTIC AVE, SUITE 193  12 SEVENTH AVENUE  MANASQUAN, NJ 08736  FREDERICK J. KURFENS  FREDERICK J. KURFENS  FREDERICK J. KURFENS  FREDEROHELECTRICLIC.COM  SMALL BUSINESS ENTERPRISE  YES  YES  YES  NGM INSURANCE COMPANY 10% NOT 20K; LISA NOSAL AIF WITH POA  OK  SIGNED AND DATED  648750 EXPIRES 12.29.22  34EB00810200 EXPIRES 3.31.24  SIGNED AND DATED  INCLUDED, ENGINEER DEPT. TO REVIEW  REQUIRED IF AWARDED  SIGNED AND DATED  SIGNED AND DATED  REQUIRED IF AWARDED  SIGNED AND DATED  SIGNED AND DATED  REQUIRED IF AWARDED  SIGNED AND DATED  SIGNED AND DATED  SIGNED AND DATED  SIGNED FAWARDED  REQUIRED IF AWARDED  SIGNED AND DATED  SIGNED AND DATED	

	PROPOSAL FORM								
ITEM NUMBER	TRAFFIC SIGNAL DEVICES CK09MERCER2021- 16	UNITS	QUANTITY 0 UP TO	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
				ORCHARD	HOLDINGS	EDWARD H	. CRAY INC	CAR	R &DUFF
1	Foundation, Type SPF	Unit	10	\$ 1,200.00	\$ 12,000.00	\$ 1,800.00	\$ 18,000.00	\$ 2,150.00	\$ 21,500.00
2	Foundation, Type SFT	Unit	20	\$ 1,550.00	\$ 31,000.00	\$ 2,600.00	\$ 52,000.00	\$ 3,475.00	\$ 69,500.00
3	Foundation, Type SFK	Unit	20	\$ 2,000.00	\$ 40,000.00	\$ 3,000.00	\$ 60,000.00	\$ 4,250.00	\$ 85,000.00
4	Foundation, Type STF	Unit	10	\$ 5,000.00	\$ 50,000.00	\$ 4,300.00	\$ 43,000.00	\$ 8,000.00	\$ 80,000.00
5	Junction Box Foundation	Unit	10	\$ 2,000.00	\$ 20,000.00	\$ 2,600.00	\$ 26,000.00	\$ 3,000.00	\$ 30,000.00
6	18" x 36" Junction Box	Unit	20	\$ 2,500.00	\$ 50,000.00	\$ 2,500.00	\$ 50,000.00	\$ 3,000.00	\$ 60,000.00
7	Foundation, Type P-MC	Unit	10	\$ 3,850.00	\$ 38,500.00	\$ 3,650.00	\$ 36,500.00	\$ 3,750.00	\$ 37,500.00
8	1-1/2" Rigid Metallic Conduit	LF	2500	\$ 24.00	\$ 60,000.00	\$ 32.00	\$ 80,000.00	\$ 50.00	\$ 125,000.00
9	2" Rigid Metallic Conduit	LF	1000	\$ 38.00	\$ 38,000.00	\$ 45.00	\$ 45,000.00	\$ 55.00	\$ 55,000.00
10	3" Rigid Metallic Conduit	LF	5000	\$ 67.00	\$ 335,000.00	\$ 65.00	\$ 325,000.00	\$ 145.00	\$ 725,000.00
11	Driver Speed Feedback Signs-Solar Powered	Unit	6	\$ 12,000.00	\$ 72,000.00	\$ 11,550.00	\$ 69,300.00	\$ 17,760.00	\$ 106,560.00
12	Rectangular Rapid Flashing Beacon Assembly-Solar Powered	Unit	16	\$ 14,000.00	\$ 224,000.00	\$ 12,195.00	\$ 195,120.00	\$ 16,360.00	\$ 261,760.00
	GRAND TOTAL			\$	970,500.00	\$	999,920.00	\$	1,656,820.00

BID RESULTS			
AB2021-32 SHUTTLE SERVICE AT THE TRENTON-MERCER AIRPORT			
BID OPENING: SEPTEMBER 9, 2021			
NO. OF BIDDERS:	1		
NAME OF BIDDER	STOUT'S II, INC.		
ADDRESS	20 IRVEN STREET		
CITY, STATE, ZIP	TRENTON, NJ 08638		
CONTACT	TIM STOUT		
TELEPHONE	609 883 8891 EXT 125		
FAX	609 883 6682		
E-MAIL	TSTOUT@STOUTSINC.COM		
nj savi designation	SMALL BUSINESS ENTERPRISE		
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED		
INSURANCE CERTIFICATE	INCLUDED		
NJ BUSINESS REGISTRATION CERTIFICATE	OK		
STATEMENT OF OWNERSHIP	SIGNED AND DATED		
EIC	43298 EXPIRES 05.15. 23		
EXECUTIVE ORDER 98-1	SIGNED AND DATED		
IRAN CERTIFICATION	SIGNED AND DATED		
EXHIBIT A	INCLUDED		
NON-COLLUSION	SIGNED AND DATED		
DRUG AND ALCOHOL POLICY	INCLUDED ,AIRPORT MUST REVIEW PRIOR TO AWARD		
REFERENCES	INCLUDED, AIRPORT TO REVIEW		
HOLD PRICING BEYOND 60 DAYS	YES		
HOURLY RATE	\$ 89.00		
EMERGENCY SERVICE	SEE PAGE 54		
exceptions	NONE		